$H554 A2 3BH{T

TR E R RFRARER

| EH 28 LTEA 28 238 259 TRTE

B R#% R |0 SE% BN E4# Bk | 5lon SEXK

3 | FLS ([BHRERIFR | Y| 1R 3, 450 9 |IcLf=Iz & [IERER |& | R/ 1,611

27 |KTFT ®F = |a-zmesoro—| % | B 3,207 13 |8 #&C |EARE % | F 1,608

17|88 5F |BER#ER | Y| H 3, 204 33|tk B EHR % | R 1,599

4 |Hh AL |BF#FOS | 4| H 3,175 43 IR = BAXERY |%| B 1,511

40 [xpziEs sxF|(TEREE (4| 3B 2,963 15|LErE HER |EHR E| 5 1,277

29 |[BA EDF |[hbhiEsd | 4| 5 2,922.294| 2 |BEWN INE |BEE % | 1,217

19 |EHLy 1FLy |BER#EHFOS |4 | R 2, 746 37|l t=Hh |ERE E |5 1,163

1n|EBH % EEIEEERE 2,628 1 [#K & LA NHK# % | 8 813

35 |[IlUIB BT ERRE%® |4 |%H 2, 601 39 [=hitt= oFoy | AR | 563

0 |EX »MrFH |BERE =R 2, 475 25 @ EwR |ERE E| & 551

M|XKEF 5L [BBRERER |4 | B 2, 457 M (bR #Hh |[EaRzFesk| E | H 370

10 | EH #2% |AHE% ERE::] 2,428 16 [xo% LU, |EFE % | & 354

18 &)l X34 |®AAE =RE 2,414 32 & #B |xessmcunsz| & | & 334

B|HE 5L |EFE =K 2, 394 42 | KB XM ER |5 325

8 /& I=HUC |BHEXEH 5| H 2, 361

4 |NE HEF |(28% =K 2,348

21 (VR & MR =Kl 2, 205

148K Ohi-h|BEEXE (4|1 2,171.705

23 [F0F WHF |[28E% =K 2,124

7 &L E=2oE |EAE —RE: 2, 057

28 |[BA UBF |BR#ER |4 |]R 2, 054 BELBOD 84, 514. 999

36 (@Il A0z |(A#% =1k 2, 050 BROUBTEQ 0. 001

26 [JII4A 4 TERTE |4 (@ 2,029 WFhIZHEEBLEVER 0

5 [BHR 5 |EME =K 1,893 BEHEEHD=0D+O+Q 84,515

3 [E #= sRu7—xtoz| 4 | H 1,888 M|MBEBO 1, 468

20 (% UTH |[ABEE =K 1,886 BERHO=0+0® 85, 983

22 |XEE vATH|ERE =K 1, 880 BEH5RY - 20h@ 1

6 (K V&EX |EBFAE =K 1,793 BEEHO®=0+D 85, 984

12|15 HEOZ|BHERIH (| B 1,724 EERE 754. 598

24 |[#E D&L |(BXRHEER | % | & 1, 691 o] 2385259
BT BEAEH 1,793
BRFTIEBAERRADEBEE 69




